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TOURISM ADMINISTRATION AND MANAGEMENT
Paper — 111

Note : This paper contains seventy five (75) objective type questions of two (2) marks each. All
questions are compulsory.

1. This form of tourism concept originated from the movement that began in Italy to keep
fast food establishments out of historically and culturally significant districts in cities :

(1) Mass tourism (2) Slow tourism
(3) Active tourism (4) None of the above

2. Which one of the following is in correct order in which Cohen (1972) distinguished
between four types of travellers on the basis of motivation and using the type of
experiences tourists seek ?

(1) The individual mass tourist — The explorers — The organised mass tourist — The

drifter

(2) The explorers — The individual mass tourist — The organised mass tourist — The
drifter

(3) The drifter — The explorers — The individual mass tourist —The organised mass
tourist

(4) The organised mass tourist — The individual mass tourist — The explorers —The
drifter

3. The San Marino Declaration of UNWTO in 2014 is on
(1) Tourism and Climate Change (2) Silk Road Tourism Programme
(3) Accessible Tourism (4) Emphasizing on Domestic Tourism

4.  The Core Periphery Enclave Model for tourism was developed by
(1) Harvey (2) Butler
(3) Britton (4) Doxey

5. Tripadvisor.com is the website that review travel products. Such websites are known as
(1) User — generated content sites
(2) User — created content sites
(3) Supply — generated content sites
(4) Demand — generated content sites
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10.

From which year World Tourism Day is being celebrated ?
(1) 1980 (2) 1970
(3) 1985 (4) 1951

Which one of the following is an influencing factor of leisure participation as outlined by
Torkildsen (1992) ?

(1) Personal (2) Social and Circumstantial

(3) Opportunity factors (4) Stimulation

In the question given below there are two statements, one labelled as Assertion (A) and
the other labelled as the Reason (R).

Assertion (A) : Geo-tourism promotes tourism to geo-sites and the conservation of geo-
diversity and an understanding of earth sciences through appreciation
and learning.

Reason (R) : Geo-tourism is a form of natural area tourism that specifically focuses
on geology and landscape.

In the context of the two statements, which one of the following is correct ?
(1) Both (A) and (R) true and (R) is the correct explanation of (A).

(2) Both (A) and (R) true, but (R) is not the correct explanation of (A).
(3) (A)istrue, but (R) is false.

(4) (A)is false, but (R) is true.

Generally it is known that ‘Incredible India’ was coined by the Ministry of Tourism, Govt.
of India, but surprisingly the expression of ‘Ajaib-ul-Hind’ is the exact translation of
‘Incredible India’. It was used in the 10™-11" centuries by

(1) Iraqis (2) Syrians
(3) Yunanis (4) Arab-Iranians

Authors namely ..... wrote a book and after tough competition the book was selected for
CIM Award - 2016. Point out the name of the book from the following :

(1) Banaras: City of Light

(2) Frugal Innovation

(3) Hand Book of Hospitality and Tourism
(4) Fathepur Sikri — Revisited
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11. In connection with cultural heritage, match the following :

Countries Cultural Heritage
a.  China I. Machu Picchu
b. Rome ii.  The Pyramids
c. Egypt iii.  The Sistine Chapel and the Coliseum
d. Peru iv.  The Great Wall and the Forbidden City
Codes :
a b C d
@ v i i il
(2 v i i [
(3) iv i il [
4) i diioivo

12.  Museums are considered to be repository of heritage and culture of a country. These
places are attractions for the tourists who desire to known about a country’s socio-cultural
life.

From the following point out which museum has a painting by William Hedges (1744-97)
of the Allahabad fort.

(1) The Victoria Memorial Museum, Calcutta
(2) The National Museum, New Delhi

(3) The Salar Jung Museum, Hyderabad

(4) The Prince of Wales Museum, Mumbai

13. From historical times trade routes emerged to facilities the travellers. To facilitate the
travellers further, ‘Kos Minars’ were built in medieval period. In modern sense these are
the milestones. One of the basic purposes to built the minars’ is explained by a
contemporary writer

(1) Travelling to and fro goes on day and night and these minars guide them (travellers)
from loosing their way or getting off the routes.

(2) These minars were built to chase the enemy and not to getting off the routes.
(3) To provide accommodation ad resting place.

(4) To organize market for the travellers.
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14.  Which of the following are biosphere reserves ?

l. Nanda Devi I1.  Nilgiri
I, Simlipal IV. Dudhwa
Codes :

@ LIV ) 1,1,
3 LIV 4 1,1V

15. Fa-hein, a Buddhist monk and scholar from China visited the court of

(1) Chandragupta Maurya (2) Chandragupta — Il
(3) Harshavardhan (4) Bindusara
16. The ITC entered into hotel business in year with the acquisition of a hotel in

Chennai which was rechristened ‘ITC Welcome Group Hotel Chola’ was renamed ‘My
Fortune-Chennai’.

(1) 1955 (2) 1965
(3) 1975 (4) 1985

17. Match List — I with List — Il and select the correct answer using the codes given below :

List— 1| List—11
(Soup) (Region of Origin)
a.  Minestrone i. Spain
b.  Gazpacho ii. India
c.  Mulligatawny ii.  ltaly

d.  Puree of Pumpkin iv. England

Codes :

a b C d
@ i i i v
2 i i v i
(3) i i i v
@4 i iiioivo i
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18.

19.

20.

21.

A hotel guest room offering scenic beauty view is called as

(1) Deluxe room

(2) Cabana
(3) Quad
(4) Lanai

Swachh Bharat, Swachh Pakwan (Hunar Zaika) Scheme by Ministry of Tourism, Govt. of
India has been launched in partnership with

(1) National Association of Street Vendors of India
(2) Indian Restaurant Congress
(3) Indian Culinary Forum

(4) Indian Hospitality Congress

Which amongst the following is not a classification for star category of hotels in India ?
(1) 7 Star

(2) 5 Star

(3) 5 Star without Alcohol service

(4) 3Star

Which of the following are necessary requirements for any star rating criterion in India ?
(@) Provision of wheel chair for the differently abled guests.

(b) Valid parking services

(c) Verification of guest at registration

(d) Rain water harvesting

Codes :

1) (@, () &(c)

2 (b),(c) &(d)

3) (@), (c) &(d)

(4) All of the above
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19.
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(C) USHERRUT (ST & THT TR AT ST T

(d) a9 STt g

%

1) (), (b) 3 (c)

(2) (b), (c) 3R (d)

3 (). (c) @R (d)

(4) S i

J-93-16 11 Paper-111



22.

23.

24,

Match List — I with List — Il and select the correct answer using the codes given below the
lists :

List—1 List— 11
(Function) (Hotel Department)

a.  Registration I. Housekeeping
b.  Upkeep and maintenance ii.  Concierge
c.  In-Room Dining iii.  Front office
d.  Guest other services and facilitation iv. F & B Service
Codes :

a b C d
@ i i v
(2) i i [ iv
(3) i i iv i
4) i i i v

The necessary ecofriendly practices to be followed by all star rated hotels in India include
(@) Sewage Treatment Plant

(b) Waste Management

(c) Pollution control methods for air, water and light

(d) Introduction of non-CFC equipment

Codes :
(1) (@), (b) &(c) (2) (b), (c) &(d)
(3) (@), (c) &(d) 4) (a), (b), (c) & (d)

Which of the following are high speed train systems ? Select the answer from the code
given below :

(1) Gatimaan Express (India) (i) Shinkansen (Japan)

(iii) TGV (France) (iv) Thalys (Belgium)

Codes :

(1) (i), (i) and (iii) are correct. (2) (i), (iii) and (iv) are correct.
(3) (i), (iii) and (iv) are correct. (4) (i) and (iii) are correct.
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T
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(3) (i), (iii) R (iv) @& € | (4) (i) 3R (jii) T T |
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25. Match List — I with List — 11 and select the correct answer using the codes given below the

lists :
List—1 List— 11
(Airline) (IATA Code)
a. Indigo I. G8
b.  Vistara i. 15
c. AirAsia iii. 6E
d.  GoAiIr iv. UK
Codes :
a b C d
@ v 0 i i
(2) i vl [
3 i i i v
@ i Wiivo i

26.  Which luxury train covers the following itinerary ?

Mumbai — Vadodra — Udaipur — Jodhpur — Bikaner — Jaipur — Ranthambore —

Agra — Delhi
(1) The Golden Chariot (2) The Maharaja Express
(3) Mahaparinirvan Express (4) Deccan Odyssey

27. ‘Fly the New Feeling’ is the slogan of which airline ?
(1) Indigo (2) GoAir
(3) Vistara (4) AirAsia

28. Dr. Fang Liu of China is the Secretary General of
(1) WTTC (2) ICAO
(3) PATA (4) UNWTO

29. Indrail Pass is for
(1) Indian citizens (2) Foreign nationals

(3) NRIs (4) Both Foreign Nationals and NRIs
Paper-I11 14 J-93-16



25.

26.

27.

28.

29.

TrAfeiad T — | FHaT SR Gt — || % HaT bl GHCTT SHieie 3R Gierai o =i 3 T et 1 i
X el I G :

= - | =it - 11
(TER-E) (TETAT %)
a.  drem i, w8
b. fammr ii. M5
c. TRUE  iii. 6%
d. wMwR iv. I&
B!
a b c d
1) iv i i i
) i v
@) i i Qi v
@ i i v

U7 -GS q JoRT DA GF 67 T F=AfcArad ama e SHet & ?

T —> TS —> FTAR —> SR —> FHR —> TIR —> TR —> 3R —> ot
(1) T e 9iae (2) T TR TR

(3) HEMNIET TR (4) 2 aifed

“GATE T =g Wi FTotiad & & o TaRets & e € ?
(1) gfem (2) MR
(3) farmr (4) wITuRE

I % . T Ay e § § e merted & 2

(1) s=gAJT (WTTC) (2) RT3 (ICAO)

(3) WuITW (PATA) (4) Fuazsgas. (UNWTO)
30 U Fefarad o § foraes fora & 2

(1) wRdR AR (2) focel Amie

(3) T WRdE (4) Toeft AR iR sTHah TR <A
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30. The longest National Highway in India is
(1) NH3 (2) NH24
(3) NH 44 (previously NH 7) (4) NH32

31. If a person purchases a ticket in Frankfurt and starts his journey from Frankfurt

International Airport, it is a transaction.
(1) SITI (2) SOTI
(3) SITO (4) SOTO

32.  Which of the following series of value propositions has South-West airlines adopted ?
(1) More for less proposition
(2) Less for much less proposition
(3) Some for less proposition

(4) More for more proposition

33. Setting the promotion budget so as to match the budgets of the competition is
characteristics of which of the following budget methods ?

(1) Affordable method (2) Percentage of sales method

(3) Competitive parity method (4) Objective and sales method

34. ASDL (Asymmetric Digital Subscribes Lines) enables the
(1) E-commerce without communication.
(2) Resort accommodations, security scanning, passport controls much easier.
(3) E-commerce in real time with interaction thereby avoiding the need for travelling.

(4) Information about destination facilities, infrastructure and transport options.

35. A three letter code designating the type of air craft used for passenger flight or cargo
transport is known as

(1) Hubcode (2) Carrier code
(3) Equipment code (4) Airline code

Paper-111 16 J-93-16



30.

31.

32.

33.

34.

35.

frfefaa & ¥ I W1 9Ra H G e TS TR § 2
(1) a3 (2) TATd 24
(3) TAEA. 44 (W@ HUATT. 7) (4) T 32

A U R RS T U e e § 3R ST AmT SRS RIS garsety | U R €,
FretetEd o 9 98 U T |
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(2) FHA I F foTT TR FH H I

(3) M I & foTe 1 it v

(4) e g % foe stes =it T

TicRTe & SoTel I Te3T Mede aoie ol fa=arg Frefeiad # 9 frg aoie usfaar i faean & 2
(1) =TS (2) fasnt = wiceId TSTd
(3) TfcREeTeh TR U5l (4) o AR oh Tt

Tua s e, (faun fefstect ureeh oe) Fefarad 9 | fFd 9qe ST & ?

(1) Fumor & o Sty

(2) REiC Mam, GET S, Thie W el AT 31w 3T

(3) ST % WY Aok AT T T-aurey 31 S8k RT I i SAavaharatl § ST
(4) et gheenah, gt g, TRae foshedt o I H STHBR!

T IS 37T AT IREe % ToTT IerT §ale STelsl o Wb ol et el arel i 9Tl oh Ueh & ol
e & I foreh ©0 § ST ST § 2

1) F=% (2) FaEHF
(3) ST FH (4) TIAETA RS
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36.

37.

38.

30.

40.

41.

In an air itinerary the destination point used to determine the round trip fare or maximum
permitted mileage

(1) Turnaround point (2) Railing point
(3) Connecting point (4) Embarkation point

The implementation of the principles of sustainable tourism stipulated by the UNWTO are
the responsibilities of

(1) The Central Government (2) The District Administration

(3) The State Government (4) The Non-Governmental Organisation

Assertion (A) : Out-bound tourism is double than in-bound tourism in India.

Reason (R) : The competitive pricing strategies of tour operators make the foreign
tours attractive and affordable.

(1) Both (A) and (R) are true and (R) is the correct explanation of (A).

(2) Both (A) and (R) are true, but (R) is not the correct explanation of (A).
(3) (A)istrue, but (R) is false.

(4) (A)is false, but (R) is true.

In 2007, which tour operator merged with Thomas Cook ?
(1) First Choice (2) XL
(3) TUI (4) My Travel

In Portfolio analysis the product that is enjoying the benefit of a high market share but in a
low-or zero-growth market, is known as

(1) Cash cows (2) Dogs
(3) Question marks (4) Stars

Which of the following is not an example of “Travel Stimuli” ?
(1) Advertising and Promotion

(2) Travel literature

(3) Travel trade suggestions and recommendations

(4) Assessment of subjective risks
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36.

37.

38.

39.

40.

41.

TS gaTE T H, STANTHA I [SRIT 31eeT SAfehay Tiighd Hie-gd sl HeiRd & o folg Fefotiad 5
T forg et fareg 1 ST fohar ST & 2

(1) TWEE TR (2) Yo
(3) AR U (4) UTERERH TS

TR T fove MR e & §RT 3Fa% Tad 19 & g o Faraae & g Hefatad § 9
I SARGHT & ?

(1) &5 THE (2) e T

(3) 19 WHT (4) TR G

Afe (A) ;. 9RA | R T s the W IR

FHRT (R) ;AT STl St HeTeTeh god YOI faset st i STtk Y fehwhrat
A & |

(1) (A) 2R (R) I T & 3R (R), (A) F & AR & |

(2) (A) 3R (R) 3T T & e (R), (A) F TE AT € |

) (AT E fohg (R) T & |

(4) (A) TR &, g (R) W& |

g 2007 H, Fefarad 5 9 o6 a1 Sarersh ol 9md $h o Qe et fear mar 2
(1) W= ) T
(@) Zyam (4) WA

T3t forvetsmT & ST 3o ISR IR 1 o af 32 & ek =97 a1 I Wt TR ¥, 3§ e &
1) wHS @) Fw
(3) e foem 4 =®

T o | i 1 “am ST (Jel R 1 SSTeoT 6l & 2
(1) ToRme 3R 3=

(2) 9= e

(3) I AR Gat erre iR Faehier

(4) AR SHRGHT T TediwT
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42.

43.

44,

Assertion (A) : It is important to recruit staff for personal qualities and then train for
skill.

Reason (R) : The staff is very much involved emotionally in the service encounter
and as such the personal feelings created by contract service personnel
are an important determinant of future demand.

In the context of two statements, which one of the following is correct ?

(1) Both (A) and (R) are true and (R) is the correct explanation of (A).

(2) Both (A) and (R) are true, and (R) is not the correct explanation of (A).
(3) (A)istrue, but (R) is false.

(4) (A)is false, but (R) is true.

Match an item in List — I with an item in List — Il as per the given code :

List—1 List—11

(Levels of Competition) (Examples)
a Budget Competition I. Fast food restaurants
b.  General Competition ii.  Food and entertainment
C Product Category Competition iii.  Fast food (Hamburgers)
d Product Form Competition iv. Prepared food
Codes :

a b C d
@ i i i v
2 i ivo0 i
(3) iv i T
4) i i v

The trip index (T;) represents

Total numbers of nights (D,) spent at a single destination
(1) Total numbers of night (T,) spent on trip

x 100

Total numbers of nights (T,) spent on trip
(2) Total numbers of night (D,)) spent at a single destination

x 100

Total numbers of night (T,) spent on Trip
(3) Total numbers of nights (D,) spent at a single destination

Total numbers of night (D,) spent at a single destination
(4) Total numbers of nights (T ) spent on trip
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42.

AWHYT (A) : Tg TEdYY ¢ b SATKAT TUEre o MR W FHHANET S el ohar S i
3GF 15 HIVTA T HIeTd fohar ST |
HT (R) ;. HUIR! a1 9 Gatd v § et €9 ¥ §gd S o @ S € 3iX 39

YRR STEY a1 W I e §RT Yioid JafeRieh HramTd Aral ST o Hewaqol

R & € |
SR 31 T o aET W et 3 9 e-an v ?

(1) (A) 3R (R) 3 & € 3T (R), (A) F Tel A= & |
(2) (A) 3R (R) 3 T& € 3R (R), (A) F Tl A=A & € |

(3) (A) T & wfrT (R) T € |
(4) (A) T &, e (R) W& |

43. WU T e F SR Tl — | 6 7T Gl — || 3 H]T 6 W Rl ity

aeft - | a1
(srfereat 1 =) (SaTeTm)
a. oot et i R e NERE
b. M HicwEEt ii. @ R HHeE
C. I JUT Hicreer iii. e R ()
d. SoE &7 uidemEt iv. TR @R
H
a b c d
@ i i i v
@ i ivoi il
@ iv i i il
4 i i v i
44, A I (A.3E) T A &
T B - et T el e ()
1) T T g @) 10
Tsh I § foes T | T (S
@) o e w e T e T @) < 100
T AET 7 T 7 o T (@)
) T e W e T o W @)
TS & - W Tl O (@)
(4) Toh AT H {elTS TS T A0 (ST,
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45. Dependency theory is based on the inter-relationship between

(1) low level of profit and high taxes (2) development and underdevelopment
(3) ecofriendly hotels and hostels (4) social interaction and motivation

46. Assertion (A) : Economics analysis of climate change needs to be global and include
long-term time horizons and risk and uncertainty.

Reason (R) : All countries are largely to be affected by climate change, but especially
the poor countries.

In the context of two statements, which one of the following is correct ?

(1) Both (A) and (R) are true and (R) is the correct explanation of (A).
(2) Both (A) and (R) are true but (R) is not the correct explanation of (A).
(3) (A)istrue, but (R) is false.

(4) (A)is false, but (R) is true.

Instructions : Read the passage below and answer the questions from 47 - 51 that follow based
on your understanding of the passage.

Tourism accounts for more than 10 percent of the Gross Domestic Product (GDP) of the island
economy of Barbados (MYCOO, 2006). The promotion of mass tourism has threatened
30 percent of the Caribbean’s coral reef by the discharge of untreated domestic and hotel waste
(MYCOO, 2006). MYCOO identifies training/capacity building and green certification to
reverse sustainability policy failure. The Caribbean environment programme sponsored by
UNEP has three key sub-programmes.

o Assessment and Management of Environment Pollution (AMEP)
o Specially Protected Areas and Wildlife (SPAW)
o Communication, Education, Training and Awareness (CETA)

The Barbados tourism industry has adopted self-regulation initiatives by seeking Green Globe
21 and I1SO 14001. The adoption of certification is contentious as it is strengthening big
business and threatening the viability of smaller, locally owned enterprises. In addition the
Physical Development Plan of 1970 and the National Development Plan of 1979 have
prohibited overdevelopment.

47. Which one of the following has forced the Barbados administration to regulate mass

tourism ?
(1) Law growth of GDP (2) Protest of community
(3) Mass Tourism (4) Protection to the Hotels
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45, AT 1 fgia e | 9 e d o Siagey € ?

(1) o & 1 TR 3R 32T 9 (2) o 3R STUEHE
(3) uIRfEafdent & 3 et Bieet IR EReA  (4)  QIISTh TR 3T SRR

46. IFfWmAR (A) : ST UREdHT & 31 favetar i Sfvaes w1 @ iR T S Sfast
3R SHfEw a SAHedar Qiferd 8 |

%R (R) ;T W, STofar] UNEeH 9 il &S e WWIfd 8, ik foe ww § e S
Aty e &t |

SR 3 e S T o Fereerian Qe w2

(1) (A) 3R (R) I T € 3R (R), (A) Ff Tl AW ¢ |

(2) (A) 3R (R) I T & e (R), (A) T TE AT & € |

(3) (A) T g (R) @ & |

4) (A) T E fRg (R) W€ |

fdor ;. FrAfoaa Terier b ufen SR 39 TR % SR H STl GHE % SR WISl (T §@T 47 ¥ 51 )
% ST JINTT

e B ARAGT 51T T STITERT (185, 2006) W Fehel BRe] SIS (Sl dt) | 10 e & o sifes fewan
T | SH T8 I U 3 § SN Tl Ud 2lee o Fe-he % Sl oo @ SHRoT hfSEr i 30
T iaTeT T (SPiXet Ah) T TRl UST & T & (1S5, 2006) | e el =il i fahetdT o faataer
S o TIT ITRTOT/ATHar For 3% g WHToieher bl TedH AT & | JUASH. FRT WIS hiears
THEROT HRIHT & A TG SU-FIH &

o TTERUT NNV 1 oAl Ud FEE (TUA L)

o faftre w7 q Witrd & v F-Sia (TE R T,

o TEOT, foreM, H¥TETOT SR STRERT (2T

IRAE & T SE F U T 21 SR SMEUE.3M. 14001 & W | W-fa=ae Teetl i 3T & |
ATt STH T AL T T U7 &1 T & | $h AR, 1970 Tt Hifcish faeprg Jiomr 37 1979 o Tk
T Tt & it (3TeReaeTTe) = fAftg form & |

47. SF-9EA % fafame o ole SReTR TR o Feteiad 9 § e are foam & 2
(1) St = = afy (2) TEE EN Y
(3) SH-wEE (4) et S g
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48.

49.

50.

51.

Which one of the following is the chief attraction for tourists in Barbados ?
(1) Tribal life (2) Cuisine
(3) Coral reef (4) Whale watching

Which of the following initiatives that Barbados administration has adopted aim at
reversing sustainability policy failure ?

(1) Community empowerment programme
(2) Green certification
(3) Closure of all hotels

(4) Indentifying special tourism zone

Assertion (A) : Regulatory initiatives to reverse sustainability policy failure in
Barbados through training / capacity building and green certification
have become favourable for big business enterprise and unfavourable to
smaller and locally owned enterprises.

Reason (R) : Percolation of tourist expenditures in the local economy of Barbados is
skewed, leading to the resentment of local population against mass
tourism.

In the context of two statements, which one of the following is correct ?

(1) Both (A) and (R) are true and (R) is the correct explanation of (A).

(2) Both (A) and (R) are true, but (R) is not the correct explanation of (A).
(3) (A)istrue, but (R) is false.

(4) (A)is false, but (R) is true.

Assertion (A) : The Physical Development Plan of 1970 and the National Development
Plan of 1979 helped to discourage overdevelopment in coastal areas in
and around Barbados.

Reason (R) : About 30 percent of the Caribbean’s coral reef is now threatened by the
discharge of untreated domestic and hotel waste.

In the context of two statements, which one of the following is correct ?

(1) Both (A) and (R) are true and (R) is the correct explanation of (A).

(2) Both (A) and (R) are true, but (R) is not the correct explanation of (A).
(3) (A)is true, but (R) is false.

(4) (A)is false, but (R) is true.
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48.

49.

50.

51.

IREARI W 2! % qeT 0T § Fferiad o ¥ S & 2
(1) onfsam Stee (2) FoH
(3) VT fuf (PR T (4) = H R

IRATEG T+ Fecdl =it ot fawerdl & faeAfget st Sofed & forg ffafad § & ®F 9 oot &
T?

(1) TR FRIIHIOT SHIsHT

(2) eRa iR

(3) Wit greatl H S8 AT

(4) Ta9I T & S veaH

AP (A) | TR § Fadar A w fawetar & faaraet # Seed & fotw nf¥retor / erear
fror @ik e ek gRT fafame Teel S sEditaE e & o
S S e T P e A e 3 e e A

FHRT (R) . IRARNY H TR TR § UEeeh A e [au €, S SH-weT &
T T SRS o TaRTe bl A IR R & |

SR & T o T § AT § 9 i J1 Tel § 2

(1) (A) 3R (R) I T € 3R (R), (A) Ff Tl AW ¢ |

(2) (A) 3R (R) IF I &, g (R), (A) T Tl = i ¢ |

3) (A)WE fohq (R) T € |

(4) (A) TR &, Tobq (R) Wl & |

afrpem (A) : 1970 =i «fifdes faeh AT 3R 1979 i T T AT 5 SRR J 31X
S YU o deadt & § fawm (3NeRSaciTte) i Feaied F H 188
HE

HRT (R) : STUIRA BRe] Ue BIeel & Fg-HhoR o Y bt ¥ RIS bl R 30 Wierd
Tt T (ReT ) T Tl UeT &1 T € |

Wi ) o ge o Ffafiad 3 ¥ e o w2

(1) (A) R (R) IF T & 3 (R), (A) H & AR & |

(2) (A) ¥R (R) SHi W&, T (R), (A) ol el =Arer i |
) (AT E fohg (R) T & |

(4) (A) TR &, g (R) W& |
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52. Match an item in List — I with an item in List — Il as per the given code :

List— 11

(Areas of Certification)

I. Social Responsibility
ii.  Quality Management
iii.  Event Management

iv. Energy Management

53. Match List — I with List — 1l and select the correct answer using the codes given below the

List—1
(Name of I1SO International
Standards)
a. 1SO 20121
b. 1SO 9001
c. 1SO 50001
d. 1SO 26000
Codes :
a b C d
@ i i iv i
(2 i W oiv i
3 ii i i v
@ iv i I ii
lists :
List— 1
(Names of NGO)
a.  Ecumenical Coalition on
Tourism (Defunt-2012)
b.  Tourism concern
c.  TEN (Tourism European /
Ecumenical Network)
d.  Arkbeitskresis Tourisms
and Entwicking (AKTE)
Codes :
a b C d
@ i il i \Y;
(2 iv i i [
(3) iii i iv i
4 i i i v

Paper-I111

List—11

(Geographic focus and focus of work)

Switzerland, impacts of tourism on

developing countries

12 European NGOs, effects of tourism

on people in developing countries.

United Kingdom, Educating

government, industry and travellers

Thailand, advocacy for developing

nation communities and their rights.
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52. gt —
I :

(SMETH. 3N, SFERTLIT HIAHT HT AATH)

a
b.
c.
d

T

(1)
(2)
3)
(4)

= - |

.3, 20121
3T, 37, 9001

3METH. 3. 50001
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| =6 Tt — || | GHfeId e 3R Giea & e iKT 7T i 1 ST X g et SR BT 9

=t - 1
(STTOTERYUT 6T &17)
i ST S
i, TOTerT gEYe
iii. STASH wEe
iv. Sl eE

53.  gEr — | B g — || % 97 Al i 3T gredi o =i ST T el ST S gT Fel I A
T HITC ;

1)
)
©)
4)
J-93-16

= - |
(T30, T )
e QT e
T i T

A3, (T Tt ==t
T edeh)

AR WA 3R
AT (THAE)

iv.

= - 1

(Hirifereh o 3R T T %)
TEeTivs, foemaeieT a9 W T & TE
12 TR TS 3T, fqepraeier ST & @ W)
e I
AR foTeH, TR, ST 31X ATHST i
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oEere, TaFRiel 39 & WEEl SR 3R
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54.  An important document namely “Making Tourism More Sustainable : A Guide for policy
makers” was published by two of the following international organizations :

(1) United Nations Environment Programme and United Nations Development
Programme

(2) United Nations Development Programme and United Nations World Tourism
Organisation

(3) United Nations Environment Programme and United Nations World Tourism
Organization

(4) United Nations World Tourism Organisation and World Travel and Tourism
Council

55. Assertion (A) : Type 1 error occurs when the sample results lead to the rejection of the
null hypothesis when it is in fact true.

Reason (R) : The proportion of customers preferring the new service plan is less than
0.40, when infact it was greater than or equal to 0.40.

In the context of two statements, which one of the following is correct ?

(1) Both (A) and (R) are true and (R) is the correct explanation of (A).

(2) Both (A) and (R) are true, but (R) is not the correct explanation of (A).
(3) (A)istrue, but (R) is false.

(4) (A)is false, but (R) is true.

56. Formulation of hypothesis is not necessary in
(1) Survey studies
(2) Fact finding studies
(3) Experimental studies

(4) Normative studies

57. Which statistic is not associated with factor analysis ?
(1) Bartlett’s test of sphericity
(2) Communality
(3) Eigen value
(4) Regression
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54, U HewaqUl SEAEST T “BiHT SRl IR GEHeeT | T e BR Hierdl Jhd”  FHefarad 31 S
TTEHAT o G WeRITTA foRal 14T o :

(1) RS AT TARRHE WM 3R FAIRSE A9 SacTaHe T

(2) TS AT AT T 3R RS 9T dog RS 3iiHIesivm
(3) TAIREE YR TERRAE T 3R RS "9 aos 2o SR HTESeN
(4) T AV oS IRST SHESIRA 3 ge8 gdet UUg ZNSH SHhitdel

55. AfW®YA (A) : =Y 1 I 9 B &, ST AT UM ol WeRhouHT i ST ST HNT FRTd

I &, ek I arkdd § & e € |

HIT (R) ;TS AT ASHT B IR §H At ekl B3I 0.40 F HH BT &, Sk I8
AT | 0.40 T 31 A1 SHb SR BT € |

SIS 31 FT & Ted § fefotiad | J i 91 &l ¢ 2

F

(1) (A) 3R (R) 3 Tl € 3R (R), (A) 3 &l AR |

(2) (A) 3R (R) & Wl 5, W (R), (A) T Tl AR Tl ¢ |

() (A)TEE W(R) AT |

(4) (A)TdE T(R) T |

56.  TerbedHT bl T frefefiad & & fera strawass el & 2
(1) TaeTor e
(2) q= @RI 3T
(3) UANTIHS 3T
(4) A S (e )

57. i T Qitereh, e et & Fefed el € 2
(1) TIeTpia & IR H SIeeIE I TIEToT
(2) WuEmEETEa
(3) RS W (5 o)

4) qu(ﬁﬁm )
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58. A statistical design that allows for the statistical control of two non-interacting external
variables in addition to the manipulation of the independent variable.

(1) Latin square design
(2) Randomized block design
(3) Factorial design

(4) Time series design

59. When a coin is tossed 10 times, then we use
(1) Normal Distribution (2) Poisson Distribution
(3) Binomial Distribution (4) None of the above

60. The rate of occurrence of persons eligible to participate in the study expressed as a
percentage is called as

(1) Response rate (2) Non-response rate

(3) Incidence rate (4) Sampling rate

61. Assertion (A) : The measurement of one sample has no effect on the values of the
second sample.

Reason (R) : Two samples that are not experimentally related are called as
independent samples.

In the context of two statements, which one of the following is correct ?

(1) Both (A) and (R) are true and (R) is the correct explanation of (A).

(2) Both (A) and (R) are true, but (R) is not the correct explanation of (A).
(3) (A)istrue, but (R) is false.

(4) (A)is false, but (R) is true.

62. Classification of business strategy into cost leadership, differentiation and focus was
advanced by

(1) Towers Perin (2) Michael Porter
(3) T.V.Rao (4) Kirkpatrick
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58.

59.

60.

61.

62.

T Qi TesTem, S &1 137 sharches ael =/ & WieTehid (a3 o Sfidiad @l = &% e

(1) e o fesmeA
(2) TEATESE e s
(3) eRiREe festeA

(4) =g 9IRS festeA

ST fordlt Tqerh Bl 10 S ISTeT ST & o &9 Tohehl STanT id & ?
(1) T faeeo (2) @ A
(3) TEuerE fomwor (4) SR T Y HE o &

3TEE H AFT O o U SR o Hied 8 3 ST i AT § SR o STl 8, 39 el STl &
(1) SRR R (0 @) (2) RS R (-1 )
(3) TN T RN ) (4) T 9 T (I )

afiper (A) : Tk % AT B GEY TG b G (@esT) W IS IS T TSl ¢ |
%R (R) ;3 T, T I 9 el el €, Sl T T el S ¢ |
IR I FAT o T § Ffotiad § | S 91 9él ¢ 2

(1) (A) T (R)IF T T 3R (R), (A) F T =T |

(2) (A) & (R) IF T & W (R), (A) Tt Tel == Tl & |

() (A)TEE W(R) AT |

(4) (A)THE W (R)TT |

AT Teelt g, FaiRIeRRoT ST] BT | SAaqIe UM o SHiehRoT shr fohae 3TRT ST o1 2
(1) 2= uia (2) TTEER qreT
(3) d ™ (4) Towrdtfes
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63.

64.

65.

66.

Which of the following is not a component of external business environment ?

(1) Competition (2) Past strategy
(3) Technology (4) Market trends

Promoting the achievements of organisational goals and values of integrating HR
strategies with business strategies is the strategic role of

(1) HR Directors

(2) HR Advisors

(3) HR Business Partners
(4) HR Professionals

An international firm in which decisions are taken at headquarters and foreign subsidaries
possess little autonomy is of orientation.

(1) Ethnocentric
(2) Polycentric
(3) Region centric

(4) Geocentric

For effective communication you would take the following steps :
l. Select the channels of communication

Il.  Plan the evaluation procedure

I11.  Determine the objectives of communication

IV. Identify various means of communication

What is the logical sequence of the above steps ?

@ LIV
@ IV LI
@) ULV, 1L
@ 100,01V
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63.

64.

65.

66.

TRl A alder § Fefaiad § 9 9 it 781 & ?
(1) il (2) foma TR
(3) ViR (4) SR = Hght

TE.3R, YOI o AT WA & | Thighd FX SeAeTh odl Td Jodi sl i ol
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(1) vaER FRws
(2) TAIR GARHER

(3) TAAR ACHIE AER{R

(4) TEIAR, WA (RSH)

Topdl STeRTEIa Y, ST FoTa gremerd W e T € 31 faeelt eraeh shuf-ial o U SriaT &9 gl
Z, T HEA § |

(1) 10 & 3T ¥ SHE GUgH W HiEd

(2) wEHET

(3) &EHsa

(4) s

3T FTEICAIRe FRIY0T o TIT Ffoiiad shae ST
| ST S e 9a

[I. ootk AishaT st JISHT ST

1. ST & e 1 e

IV. e o fafieT et 6t ge=m

SURIeRT SHEHT Sl ThETT HH 1 & ?

@ LI,V
@ IV, L LI
@) LIV, 1L
@ 1,011V
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67. Match the sources of resistance to change in List — | with their explanation in List — Il and

select the correct match using the codes given below the lists :

List -1

l. Loss of control

Il.  Loss of face

[1l.  Threat is real
IV. Fear of
unknown
Codes :
I i u v
1) a b c d
2 b a c d
(3 c d a b
4 b c a d

a.

List—11

People resist change that infers that their
prior practice was wrong.

Change is exciting when we do it
threatening when others do it.

Change results in both winners and losers.

People tend to prefer the comfortable ‘rut’
of their daily work.

68. Peter Drucker’s Management by Objectives involves the following steps :

I.  Tying resources with the goals

Il.  Setting subordinates objectives

I1l.  Clarifying the organisational roles

IV. Preliminary setting of objectives at the top.

The logical sequence of the above steps is

@ 1LV
@ LIV,
@) LIV, 1,
@ 1V, 1,0,
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67. T — | H U T uRade o WiR & Aidl B galt — 11 H St TS SR AT % Grey AT i ST
=i 3T T e BT AT e BT Wl GHoH i gT ;

= - | =t - 11

R SCELRG ol a. T URES AR R €, e SHEE
TRTAT & o SRt et B et o |

Il. STl Fegq@ T b, UREdH o JIHTeeh &I €, ST 377 39 R &,
Tg q9 T § YOT ORI &, ST 3T AT 39
AT |

Il S aRdas & c. URT H URemm fosmme iR ERA Al
T o T T G AT |

V. 7= & 9 d. T S IS F A GHSHE & A
I A E |

H

| 1 m v

1) a b c d

2 b a c d

(3 c d a b

4 b c a d

68. T oY o oIed- ST Ve T ffeiiad hed ImiHet 8l &
| ST R o A S
1. avelier o Feiia e
], ST Yo T FXAT
V. %9 %R W Al H AR & § iR w0 |

ST SHEHT S ThETd ShH &

@ L
@ LIV,
@3) LIV, 1
OERVAIRIN
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69.

70.

71.

Match the motivation theories in List — | with motivation theorists in List — Il and select

the correct answer using the codes given below the lists :

List— 1 List—11

a. Theory Xand Y I. Fredrick Herzberg
b.  Need Hierarchy theory ii.  Douglas McGregor
c.  Two factor theory iii.  Abraham Maslow
d. ERG theory iv. David McClelland
Codes :

a b C d
@) i i [ iv
(2 i i i v
3) i iv i i
4) v i [

Capital of a tourism company comprises of the following :

l. Issued capital

Il.  Nominal capital

I1l.  Subscribed capital

IV. Called up capital

The correct sequence in which the capital of a company is raised, is
(@) 1,11V, ) 1,10,V

3 MLV, 4 HLIv,

Consider the following information of a tourism company

Assets = < 20,00,000
Tax = % 75,000
Net profit after tax = ¥ 2,25,000
Net worth = ¥ 1,00,000
Long term loans = ¥10,00,000
What is the return of investment of the company ?
(1) 10% (2) 20%
(3) 12.5% (4) 15%
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69. T — | & IRoT Fagit b gl — |1 H 5T 0 S fagiaert % wre gafed i #ik A e e e
H TR A T el IR T

=i - | =it - 11
a. U IR A s i, Iheeh et
b.  STavEeHdT WA MG i, o BRI
C. 3 FRE G5 iii. 3SR AR
d. WS fg iv. <foeAfwrcrs
T
a b c d
@ i i i iv
2 ii i i v
@) i v Qi
@) v Qi i i

70. TS T SO i Goft H FeAiad et & ;

. T G5 (svge shitee)

[I.  =TEm st OSf (Hifeer shitee)

1. 7o i (qemshigss hitea)

IV. | e Sl (Piee 317 hiued)

TSk ST Sl STl 3B SjeH o Told Fefotfad 5 & Gat s i 91 & 2
OERINRVYA 2 1, 1,111V
(3) 1L,V @) 1,1V, 10,1

71. U T HU o HEfAiEd STHeR W e it

Rt = % 20,00,000
Ty = % 75,000
TR I5 = ¥ 2,25,000
faer gt = % 1,00,000
greraty o = % 10,00,000
ST o FET T Ty @ € 2

(1) 10% (2) 20%
(3) 12.5% (4) 15%
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72.

73.

74.

75.

Match the items in List — | with those in List — Il and select the correct answer using the
codes given below the lists :

List—1 List— 11

a.  Current Assets — Current Liabilities 1. Short term solvency
b.  Fixed Assets — Long term funds ii.  Capital structure
c.  Debt Equity iii.  Overall performance
d.  Earnings after interest and taxes iv.  Long term solvency
Codes :

a b C d
Q) iv i i [
2 i i i v
3) i iv i i
4) i i v il

Dividends are paid as a percentage of
(1) Authorised share capital (2) Net profit
(3) Paid up capital (4) Called up capital

Consider the following two statements :

Statement—1 : When closing inventory is overstated, net income for the accounting
period will be overstated.
Statement— Il : When opening inventory is overstated, net income for the accounting

period will be understated.
Of the above statements
(1) Both Statements are correct.
(2) Statement — I is correct, but Statement — Il is incorrect.
(3) Statement — Il is correct, but Statement — | is incorrect.
(4) Both Statements are incorrect.

Consider the following two statements :

Statement—1 : If a long term liability is redeemed without changing other liabilities
the working capital will increase.
Statement — Il : Higher return on capital employed means that the interest on capital is

used efficiently.
Select the correct answer using the following code :
(1) Statement - I is correct, but Statement — Il is incorrect.
(2) Statement — Il is correct, but Statement — I is incorrect.
(3) Both the Statements are correct.
(4) Both the Statements are incorrect.
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72. gl — | H vssract B gt — |1 ¥ gAfed Hie IR great & A KT T el 1 STET R gl et

W H T FIN
=it - | = - 1

a. T IREEEr — ] S i T 3Tary FOTeNeH- T
b. e URGmET - SrEEry S ii. Ul SR
c 0T St i, T e
d. =S 3R SR % ITE] SUSH iv. ST SROTeTeE- T
HT

a b C d
@ iv i i i
@ i i i v
@) i v i i
4 i i iv il

73. I o fEteEd § I feeh Haetd o AR T A SR ST € 2
(1) e o i 2) gsom™
(3) e il (4) T TS
74, RS & HEl W R i
I - | D TE U W G-t S ST ael R T S ¢, @ ol 3ty o Tl g
3T Sg1-=IgT Y ferat s |
Fe - || ;ST U AR gefd-gE S ae-ael Y foRal ST ¢, i@l 31ty & ol I
3T T Y. fort st |

ST FEH Y
(1) SHF=A T E |

(2) FF-ITWE FgFF -l T e |
() FA-ITE g — T € |

(4) S FH T €
75. Treferad &1 Fo W faEr i
HIT — | ;. Afg U Aty ST B 3T TS Sl uRatad o feeT ferite s fear e
T, 1 it T § i entt |
HT - || ;i ST W SR o oy § 1 € o ISt IR o o SRt o ST
foram T & |
e U T el H W e I H qET Dl

(1) F=— | T, AT T — || Tq ¢ |
(2) F— || &t T, AhT o — | Tead & |
(3) SHIFEATEE |
(4) T T € |
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